



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{2}\right) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{6}\right) = \frac{1}{30}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{3}{4} = \left(-\frac{85}{108}\right)$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) = \frac{71}{320}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} = \frac{61}{100}$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{5} = \left(-\frac{57}{320}\right)$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{29}{40}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{2} = \frac{27}{50}$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} = \left(-\frac{2}{3}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{187}{320}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{17}{500}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{179}{250}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{141}{250}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{2}\right) = \frac{19}{36}$$